RN
CUET Admission Test 2013-2014

T (Written)

01. ©EoHR W= 51 5@t e | afo WWe sremm@w 1.0L @36 9@ 0.7atm 5t 90ml wifEres a=e

0.8atm 51ts 60ml RGeS e Far 25 | e @ o © 23?

TG TFOLR WifAE Bref @ e ey e saete i e s [RfEEe 12 3 sreifes eR
b firera S Bret finrer oA et TrEa W s AfEd JwE |
[P, =0.7atm, P, = 0.8atm, V, =90ml, V, = 60ml, V =1L =1000mL, P = 7]

90x0.7+60x0.8

T : PV =PV, +P,V,=>P= i = P=0.111atm [Ans. 0.111 atm]

02. feea it oo a0 Q3R a4 Seofitra 71w fere:
(1) FeCl,+H,0+S0O, —>
(1) Zn(OH), + NaOH —
(111) CH, —CHO + NaOH +1, —
(1v) AgCl + NH,OH —»
(v) HCHO +50% NaOH —
sargE: (1) FeCl, + H,0+S0, — 2FeCl, + HCl + H,SO,
T FEIRT
(1) Zn(OH), + NaOH — Na,ZnO, + H,O
Ifea fEest
(111) CH, — CHO + NaOH +1, — CHI, + HCOONa +3Nal +3H,0
HICHTCTFIT
(1v) [AgCl + NH,OH — [Ag(NH;),]Cl+H,0
TSy Ferer (1) @mize
(v) HCHO + 50% NaOH — CH,OH + HCOONa
e enfea fraees
03. @b ¥rea 72l WHZTC TATT 27.6% 8 30% WfHEW &g | W QAT THRCEF I 7AwFe M,0, =&
o fasty wedtes armafas Agee fafg wa ) .
AL AT THRCE, WHET =27.6% .. 9¢ =(100—27.6)% = 72.4%

«f%, a7 AFEERE ST =M - SM”‘: —x100=724 =M =5596; 4, fidi sz MO,
+ 4 X

oy sRte, Sfaes =30% 49 =70%

18X 100=30 =>x=> . Wg@e MO, T M,0, [Ans.M,O;]
55.96+16x 2 . :
04. @36 SyEffam g s 20ton SEfRIN 9 Seeims = | 3 wfes s 30000sec FE=E 27 ©Q

TS e T FFATE [Age ¢ ¥ Amp e *ifew arares =32 (1 ton=1000 kg).

' 7
e W=2Q; Q= o= <19 ___ 2 14x10"'C=2.223x10°F
Z ~9.32x10
1 =7 — ?'.l — 5
Q=1 :.I=9=2.14x10 7 13%10° A W -02'[{;11 2x10°gm, t =30000 sec
I Z= =9.32x10" gmC"
[Ans.2.223x10° F, 7.13x10° A 3% 96500

BRI, |




T |} i {

05. frzz Srafe drtetem siefass s o |
(1) Picric acid (1) Benzophenon
(111) Uric acid (iv) Allayl alcohol
(v) 2, 4-Dinitro phenyl hydrazone

o,N 97 NO 0
Il
sarg: (1) Picric acid : 2 ‘@’ ’ (11)) Benzophenon : @—c—@

NO,

II-I O
N
(iii) Uric acid : O_< MH (iv) Allayl alcohol : CH, = CH-CH, —OH
N7 N0 -
H H

NO,
(V) 2, 4-Dinitro phenyl hydrazone : R—C=N—-NH ~0)- NO,

H

06. METFw@ SuEET @32 ArPoNe s [Ricrmetar e
O

Il
st ST e (O + (CH,C0),0—2< (O COOH | ey cooH
SIEIRIED]

H O
l 1
syrRIfETe s : HO <0)- NH, +(CH;C0),0 — HO {0O)- N-C~CH, + CH,COOH
TGN
07. @R e e azuE-orRw R 3w o0 v [ 736 ofFe JTustes JREr ordne |

N pY COON o COOH
SNq: @9 i - @ +CO, - fam >@ i T:f:? >@ + NaCl

3 125°C

ONa OH
: CHO
Wwﬁﬁﬁw@ + CHCI, + 2NaOH —— }@’ +3NaCl + 2H,0
08. 25°C werfW@™, N,O,&=2NO, ffEmtte N,O0, 43 NO,9q "ifF oo Ty (.75atm ¢

0.25atm | fRfeFwivs K 8 K 93 77 79 37

p2 2
NO: (0.25) =8.33x107% atm ; Kp = K(RT)™ Pyo, =0.25 atm

P 0.75
Na0s Py.o, =0.75 atm
K. 8.33%107 '

c= — = =3.4x10" moldm™ An=2-1=]
(RT)™ 0.0821x298

[Ans.8.33x107 atm, 3.4x107 mol dm™]

Tz DR ccnomesoen

g K, =
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09. FTaw ¢ TR T @FFG FEM TN @ TN o FE Swie aure WS o (A @F 40|
CH,(g), C,H,(g), CO,(g) @R H,O(g) 97 eow O I —74.89, —84.52, —393.30 @

~220.9kJmol™" |
TrgE: CH, +20, — CO, +2H,0
et W=, AH =—-393.3-2x220.9—0—(—74.89)=-760.21

;. &S ST vz oo = _7f2'21 =—47.351

C,H, +%0: — 2C0, +3H,0

AT 7T, AH =-2x393.3-3x220.9 -0 —(—84.52)=—1364.78

136478 —45.49 [Ans. " QERT ZEwa @R S (]

10. IR g 62 afi 25°C wismram soifis afes pK. = 4.76, ©@ 5.0 pH @7 1@ 53 GTfeas syfss

oS AT g O = —

(AT (FONT 2¥© <41 w2
TagE: pH =pK, +log [Sal-t] =35=4.76+]log+——= [Salt] | PK, =4.76, pH=5.0
| [Amd] [Acid] |
:lng[i::il]] 024 = [[Salt]]—1.738
Acid

5.0 pH 93 3% g4 Cofs Fare ErfearT smtes 8 st ufe 1,738 wqes firms =1 |

1. x*+px +8=0 7T @3B T 4 @R x* +px +n =0 FAFIEE T 76 *7 50T | 1 97 T 7
AAYE: X +px +8 = 0 FHea0IT Tefe o ¢ 4 =0,
oa+4=—p; 4o0=8 ..aa=2 @R P=-6

A3, x* —6X +n =0 FNFICR T B T, 2p=6=>P=3 @, B2 =n=>n=9
12.* feoa 4167 &= n JAE At TN Mg s 7+ 77+ 777 + oo,

NG S=T7+T77+777+.........n T 77 A .
<, %=l+11+111+.........n TRTE AW 4 ® 3 ?—9+99+999+ ......... n AAF 44T
n-I IUD_I
=(10-1)+(100~1)+....n 7 & =10(1+10+100+.....+10"")—n =10. - -n
~s="or—1)-10
81 9

13, 16x*+9y° —32x—128=0 3@t wrrawma ey w3z cvawe fady o4 |
TEE: 16x° +9y° —32x—128=0 =16x* —32x +16+9y> =144

2

2
= 16(x—1)* +9y* =144 = ("‘“;1) + ?5 =

SOIRRYF =8 TMEF =6 CFa¥I =mab=12n |Ans. 8, 6, 12x]

N ECO ) o




s o e SR TV I

4. 3x+4y=11 a3R 12x -5y = zmﬂwwﬁwmﬁmﬁﬂmﬁﬁwﬁmwl

TrgE: fef sfeees, 3?24}{ _1“ lf/x —25y 22 @R, a,a, +bb, >0
3°+4 12°+5
S (—ve) e PEreite STafRdss Ahed 91| |

prayll  A—dy—e —>39x +52y—-143=-60x+25y+10

5 13
=>99x +27y—-153=0 =11x+3y—-17=0
’ 2
15. (a)3¥w y=tan™ X =2 !E!iji G W ([ 4 |
X
,‘ 2
MEICICE y=t;s1.n'l fes ; let, x=tan® ..O=tan" X
% .
_ _.x/l+tm1""9—1 _, seco—1 4 1—cos0 4. 0 06
S,y =tan = tan = fan - =fan tan—=—
tan O tan 0 sin 0 2 2
.‘.yzE:ltan'lx .‘.ﬁi:l. 12 [Ansl : =
2 2 dx 2 1+x 2 1+x°

(b) W y = a cos (log x) + b sin (log x) T, ©wF &=t 74 &, x°y, +xy, +y =0.
FE: y =acos(Inx)+bsin(Inx)......... (1)

=Yy, = —asm(lnx)_l_ bcns(lnx) -.xy, =—-asin(lnx)+bcos(In x). ......... (ii)
X X
asin(lnx)—acos(lnx) bsin(lnx)+bcos(Inx)
=Y = ) - X2
. x*y, =asin(Inx)—acos(Inx) — bsin(Inx) — bcos(Inx)......... (iii)
(i), (ii) e (iii) @rr =@, x*y, +xy, +y=0 [Showed]
n/2
16. (a) W= ffy == j g &
SInX + CO0SX
dx dx 1 dx
gl P2 e w1 cof x-7)
V2 V2 4
( T - ( Tz
— sec[x—E]dx—lntan ﬁ+M_Z : X LT 4
V2 4 4 2 ”Iﬂ sinx +cosx /2 a7+
\ / | \ / do
3n
—Lln an[Bn}—Llntan[E) 1 tanE
V2 8 ) 2 8 =Eln m
tﬂﬂg
(b) y* = x IFEA R y=x SR G NARE CFE CFags 77 o3
AMYE: vy =x @R y=x WY I@ 1%, (x,y)=(0, 0), (1,1) /11)
— 1 '
o 23] 2
| 2 1

| 1 1
A2=Lxdx=[§xz} =3 .:ﬂA=A1-AE—§-—E = (Ans)

D
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17. e sa @, 4(sin’ 25° + cos’ 5°) = 3+/3sin55°"
sAgE: 4sin’ 25+4cos’ 5 =3sin25—sin75+ cosl5+3cos5
=3sin25—sin75+sin75+3sin85 = 3(sin85+sin25) =3x2sin55c0s30 =3/35in55

18. «3fC mzm we AB,T 3m 79 @R 9 9o S50kg, Tt @ A« B @7 Uow w=yw swwr | 150kg
FHAT GG (1T OF Wied 847 A e 1m e fefeama O &« vref og% 33?

WW:AE=%=1.5m; AC=1m ..CE=0.5m A SR I B

Now, 150.CD =50(0.5—CD) | I |R | |
150 kg ¥

SCD=0.125 ~.AD=1.125 w32t BD=1.875 . 50 kg

94T, A 8 B fRsre o141 P, @ P, =, P, + P, =150+50=200kg
P,.AD =P,.BD; P, x1.125=(200—P, )x1.875; P, =125kg ; P, =75kg
[Ans.125kg, 75kg ]

19. @3f6 3T 200m/s Q@ AT SR e o= a1 267 1 @9 10sec. *F T GF(0 FOME 92 T (A
ATGT BoiE fre Fower o o7 | ofi ©orar e 9 32eT Swen fifere 23, s faety s @ et w91 o
g, ¢ =9.8m/s” |

; \Y
FATYI: AT AT JZET THol, H=;-—“=2040.81m;@é1?_rw, t=—-=20.408s
g g
. sy 7o IfFe 7197, t'=(20.408—-10) =10.408s; h=V, t‘—%gt'1 -V, =247.08

20. @ fare waR s faaes 10, 20, 30, 40, 50 m/s @PTRE LU @0 M AN SAAGTA! I 45°,
60°, 90° @32 135° (It T=AF A | ©IHd Fied N7 8 e Ffa o4

sd: FcosO =10+ 20co0s45° +30c0s60° +40c0s90° 4+ 50cos135° =3.7868

Fsin® =0+ 20sin45° 4+ 30sin60° +40sin90° +50sin135° =115.478

FevJF o 0+ Fsin’0=115535 -~ tan0 =19 _ 30495
FcosH .

[Ans.115.535ms™,0=tan"' 30.495]

21. @3 @S Ta9 2% 2T 20ms” @ bl OF T4 | AAg Qe @ 15ms” A @R T 2km A6E
TE AT AT HIF(6F T© FANY AMCE? I dfe (@ T ZQ? t

. R
ST A @ =157 +20° = 25ms™ 20ms’”
90°
A &F IART AR @0 St = 20c0s0° = 20ms ™
;. TATSAY A, t = % = % =100s [Ans.25ms™, 100s] 1 5ms’

BT ( c !




efSfamize 8 e = ; @ 2 ) KUET, CUET, RUET &4 3 T4

22. O30 TR A (PG 250m O FEEERAS ATORAT TSl Ma9 Im | T S0m @ 5578 Ao
CFLE ATATSA AIfFR-GF Ty AREFF AR AT (SO AR TS AT FOLF Of FACS ZA?

7

E

TACF: tan@ = — =0.0787; v=50kmh™ =13.89ms™, r=250m g
rg Im
BTEW tan O =sinB 4= T ' h\
A

S s1nB = ~(;1—B = % S h=0.0787m=7.87cm [Ans.7.87cm]

Im
23. O30 CLFE AEET o ST 100cm QR FIITTCS 95cm | (FIF IFLE FOTT 0O GIFT TFE OF &

IS TI?
HATHIA: T=2:.-1:‘/E (T TR A1Z, L _ &

g L, &g,
I @ FIONET STAT TS, N _ Bl S8 W,:@WP_:[HL] BT ST |

W, g, L, 95 95 19

[Ans.% &4 UL |]

24, @I T (QTF AT TS WeTE @3 I g T fRed 2 13RI IAPNSER oI AelkE
JASAT BICAT A Z0eT ARIN 1A Tweet 73 mgma soet ey o9 )
AY: ARY AL TSN T FICTT TTETd TAfeT O uqend TT fgd Z0a ST qived 27 |

4fq, SoAeel 519 = P AT AR WS, V| oo WS, V, =8V
e 5191, P, =101325Nm™’ p=1000 kgm™, g =9.8ms™
P, =P, + hpg

PV,=P,V, = (P, +hpg)V, =P,x8V, =h=72375m (Ans.)
25. b Giferers 3frs e o™ Siwes 1x107°m°, sem@r 300k @R 5% 2.5x10°Nm™ | Srefm@r
e @ fog SfHres I32T T2 26 | T 5197 I 1.3 x 10° Nm 2 30@ | T35S SR a7 o7 fadfy 39 | crsat

wz: R =8.31Jk'mol™ |

PV P,V

ANEE: ny =——;n, = T,
\

RT
\ 102
~An=n;—-n, =(P — Fz)ﬁ = 1.2 X 10° X B.zzxaﬂumnl = (0.48135mol - ﬂWﬂz = 15.4g (Ans.)

26. W 0°C or@y 15gm I[/FE 60°C Srow@y 60gm =g e firmear =3, fieera e fadfy a3

STHIYE; 4 o S = 0°c | ol e
mllf +m]5(9_el) — mIS(ez —e) i C, 2= C
0.015% 336000+ 0.015x 4200x 0 m, =15gm = 0.015 kg ,m, = 60gm = 0.06 kg
. X ] % o
N s =4200 Jkg~'k™", 1. =336000 Jkg™'

=0.06x4200x(60—0) = 0=32 [Ans.32°c]
27 .* i 9 (@, T [FH @ISR Mt *tHa @0 9N (@05 Y7 06 &S *THE WIATS TS AT 27 |

AYE: €, M @Y =v, SR A, u, =v

TS 15, {'= Y =" .f=i.f:m[Pruved]
vV—u V—V 0

_ fillsew  CEENUEEUERIEEES Aercmemoer.
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28.* @36 10002 97 CSIBHRTRE 15V ~ifeewa | corfitrmfba ot 250V 1@ T1oite & U8 S<ews T90e 204?
MEINIEE n:g%ﬂ:%; R=(n—l)r:>R=(53—0—le1000 =15666.67 | Given, r=1000Q2

29.

30.

31.

32.

ELEEER | o T

[Ans. 1566667 Q Q¢ QIANTS LA IS (A 1]
aF Y FIEE AN FAF A T6 @ 93 T8I (I TG e AT | 93 W G N4 e 20cm
ed fRaeer famg siream ¢oreT | paafoa St otde S e 180° (It TA fieet o R g o 9 |
M, xM, M, xM, M, (}{+2[])2
: z = > = Ty = 3
4n(x +20) 4n(x-20f M, (x-—20)
M, (x+1)  (x+1f (x+20f 2x 2x
@R 7], —L = _ = -~ =>22=""51=20 [Ans.20
M, (x=1f “(x=1f (x-20f 21 20 s 20 ]
(F) TG @ ST I 97 AR T ey o9 )

Agr: S @i, N=N e™

LEIEIC

—AT, 3
W,t=£, N:ND ,',&:Nﬂe E::,ln(l :_?LT[:’TI =1£%=0693
2 2 2 2) 3 7 A
(¥) crfeaTss ;o o= oy 6800A | w7 FHfTer== faefa o4 |
hc

T g = =2.92x10"°J=182eV | Given A, =6800A =6.8x10"m

@S (Written)
Translate into English:

(a) (T = SO T &2 FH0S B OIS AR ¥Rt T3 |

(b) corEr (¥ FHAMGCS @RS I G @ 7y Y7 fairs foe |

(c) OIthe (FT2 THAMD TWS A, ©I3 712

(d) T SR G G MUEe o 99y |

(e) &pd AIFfes 7=m A Frge @t [{eg 93l wfayg o BenR «fRfes |

14rE: (a) The student who wants to receive higher education, will have to learn English.
(b) The school you read in, was once very famous.

(c) None of them knew the answer. did they? .

(d) Those who have sacrificed their lives for language are immortal.

(e) In spite of having a lot of natural resources Bangladesh is known as a poor country.
Translate into Bengali:

(a) Patriotism teaches a man fellow feeling, fraternity, love and sympathy for the country men.
(b) We hate those who do not realize miseries of others.

(c) Can you think will happen if population of Bangladesh grows at such a high rate?
(d) We shall have been waiting until he comes.

(e) Most people do not try to improve their conditions with hard labor.

STATE: (a) CT¥ITE™ A FSSILATY, ASPRNY, SEIRN @2 (R W &fe Tz zre Fm |
(b) TR ST T SR SR A1, SR ST Gl |

(c) fi & forr Fate “m Ft 9603 3 IreTTrTsa SR as SHRIE TS AH?

(d) fefs S SroreId® ST STorsT F9re A9 |

(e) SIS (I FTIR ARTIT AT SIewa WF TFye T GBI 7 |




i a8z epganes § i) 5 - KUET, CUET, RUET &Y 8 NI4T

33. Write meaningful sentences with the following phrases:
(a) Far beyond — (b) In order to — (c) Out of the question —
(d) Worthy of - (e) First and foremost —
ai4E: (a) Far beyond : The situation was far beyond our imagination.
(b) In order to : We study hard in order to do well in exam.
(c) Out of question : It is out of question that he is an honest man.
(d) Worthy of : You are not worthy of this prize.
(e) First and foremost : It is the first and foremost duty of a man to respect his parents.
34. Match parts of sentence of column A with column B to make five meaningful complete

sentences:
(a) The farmers grow good seeds so that That I can accompany you all day.
(b) Unless you start writing at once Were a mad man.
(c) Hardly had he reached the college You will fail to answer all questions.
(d) He runs fast as though he They may have a good harvest.
(e) I have not so much time When the examination began.

Tarers: (a) The farmers grow good seeds so that they may have a good harvest.

(b) Unless you start writing at once you will fail to answer all questions.

(c) Hardly had he reached the college when the examination began.

(d) He runs as though he were a mad man.

(e) I have so much time that I can accompany you all day.

35. Choose the right word to complete each sentence:

(a) Erosion by the river Meghna has rendered/driven/caused many people homeless.

(b) All buildings should follow earthquake resistant building code as compulsory/ optional/
peculiarity.

(c) Mills and factories throw their refined/defective/waste products into rivers and canals.

(d) The design of Shaheed Minar expresses/denotes/upsets all our aspirations of nationalism.

(e) To solve the power crisis of Bangladesh, we should waste/exploit/ravage the other sources of
energy.

FAYF: (a) rendered (b) compulsory (c) waste (d) expresses (e) exploit

01. 250 ml Na,C,0, @ 0.1 M G (ol F=we f& #fawmr Na,C,0, ewew 32

(a)3.35¢g (b) 1.675 ¢ (c)2.25¢ (d)6.75 g
e (a); W = SMY._ 01X (46+24+ 64)x 250 _335
1000 1000 '
02. gFrened wrifae Ieee CH,,0, | 93 T ALFS @57 [Ans: b]
(a) CHO (b) CH,O (c) C,HO, (d) C,H,O,
03. SREGIRT YA AT FLE® @ Hb? [Ans: d]
| | | | |
(a) -C-0-C- (b)) 0=C-0-R () 0=C-O-H  (d 0=C-0-C=0
04. faesa @R (O RGBT N SREmBs Fores F? [Ans: c]
(a) B-ray (b) Electron (c) Positron (d) None of these

—Ew SN



05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

@ QSR JIIEST WICFIRCE TS Fa?
(a) Diastase (b) Maltase

(I AT AR @A FAFS FqT T2
(a) Rimer-Timan reaction

(c) Zymase

[Ans: c]
(d) None of these

[Ans: d]
(b) Friedel-Carft reaction

(c) Libermann test (d) None of these

3 foliaeE = i =rewar «ifawre o2

(a) 36.08% (b) 58.59% (c) 5.68% (d) None of these
5x%18

TdE: (a); %H,0 = x100=36.08%

S5x18+63.5+32+64
3o Toyal faferam ﬁnﬂﬁ'm% | S @I Sremay g K e K a3 79 3@ 40.5 6 5.5

TR? sTT =E: R = 0.082L atm K~ 'mol™ |

(a) 179.60 K (b) 661.26 K

(c) 330.63 K (d) None of these

smner: (b); K, =k (RT)*" =40.5=5.5(0.082xT)" = T =661.26K

egfore Sfet 3% WRENGH KW v o3 T 16, 17 ¢ 18 HRe o7 @ @2 AfRwe
A 99.76%, 0.037% € 0.203% | SEEe e o1 $o7?

(a) 16.004 (b) 16.000 (c) 15.999 (d) None of these

T (2); M = 16x99.76 + 17}:36037+18x 0.203 —16.004 .

bree [R@aeea SR [Fees & Ao s tedt w6y [Ans: a]
(a) HCOOH (b) CH,COOH (c) (CH,CO),0 (d) CH,COCH,
e [ gye Seoiag iy fF2 [Ans: c]
(a) CH, -1 (b) C.H, —OH (c) CH, -Cl (d) C.H, —CHO

e T ¥ 97 1w o7 [Ans: d]
(a) To increase the poisonous action of catalysts

(b) To decrease the poisonous action of catalysts

(c) To increase the catalytic ability of catalysts

(d) To decrease the catalytic ability of catalysts

(TOF ST (TR ST A2 : [Ans: b]
(a) In the orbit (b) In the nucleus

(c) In the orbital (d) Outside of the nucleus

s oreat e g [ Afde T

(a) Ar(18)—1s°2s*2p°3s*3p°® '(b) K(19) —[Ar]4s’
(c) Fe(26)—[Ar}4p (d) Cu(29)—[Ar]3d"*4s?

A (¢,d); T TeTag Rer: Fe(26)=[Ar Bd®4s® 5 Cu(29)-[Ar]3d'%4s’

G > TAFLA N1 e I 1L “ifare 0.03mg i #inew oo | @ =ifirs siefes e o597
(a) 30 ppb (b) 300 ppb (c) 30 ppm (d) 300 ppm

Ty (a); 1 L@ @ 0.03mg = 30pg @3 1 pugl™ = 1 ppb .- Ansis 30 ppb

Qe COteTa A2 TR & (@1 @i Iz 207

(a) H,C(CH,),CH, (b) Pb(C,H,), (c) C,H,

[Ans: b]
(d) None of these

EECHER | 0 | T
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17. @36 @y H,S0, fife 15cm’ et 0.3M.KMnO &34 7@t 25cm’ wer@ H,0, & wiffe 3 |
Q 73ct H,0, 93 (TEE Tl F9 A7
(a) 045 M (b) 0.54 M (c) 0.045 (d) None of these
TareE: (a); 2KMnO 4 +3H,SO,4 +5H,0, — K,SO,4 +2MnSO 4 +8H,0 + 50,
S 15%x03x5=25xMx2; M=045
18. 9w TF @F [T 0.2L Y & I I S 27°C @32 519 1.0atm | GIF0 I TS

SITTSTIS] &R T |
(a) 48.9x10%' (b) 4.89x10*! (c) 4.98x10*' ' (d) None of these
PV 0.2 -3 -3 21
s1¢: (b); n = =8.12x107°; T MRAT=8.12x107 x N, =4.89%10
() n= 2T =300x.0821 B, g R A 5
19.* (@M FAFACE ASES 77?2 |Ans: c]
(a) Ca,(PO,), (b) 2Ca,(PO,),CaCl, (c) Ca(H PO,),  (d) None of these
20. @3 CO, 9T o7 97
(a) 7.305x10 ¢ (b) 5.31x10 g (c) 7.023x10>¢g (d) 6.84x10%%¢g

TAYE: (2); M = Nﬂ =7.305x107%

A
s (MCQ) '

21, @36 A FRAFAT (@ 9 A (3, 6) g faew o= @ @32 5 777 (40 I 1w 6 939 | |Ans: a]
(a) 4x+3y-30=0 (b) 4x—3y—-30=0 (c) 3x+4y-30=0 (d) None of these
22. (atbtc) (b+c—a)=3bc T sin A-9F T9 ZL3:
(a)% (b) % (c) ? (d) None of these
TEE: (€); (b+c+a)b+c—a)=3bc = (b+cf—a’=3bc =b*+c*—a’=hc
2 D
=>b LilFe 1 :>CGSA=}— :>sinA=£
2bc 2 2 2
23. tan20 tanBO=1 4T AT F3:
(a) 2nm+ % (b) nm + E (c) “2“ + "'; + (d) None of these
Jarg=: (d); tan20.tan6=1= 2tnp.. tanQ =1 =3tan’0=1=tanB = +— —0=nn+>

1—tan’ 0 V3 6
24. [xIlnxdx 99 IF Fo7? '

X X 5 x* x° %
(a) 7111(:() Y +c¢ (b) x“In(x) - Y +c¢ (c) 7111(}{) +- vy + ¢ (d) None of these

2 2
sgi: (d); JxInx dx =Inx]x dx—]{ilnxfxdx}dx =x—lnx—fidx =lx2 Inx —2—+c
dx 2 2 2 4

25.

a7 T FS?

T dx
'!.-N/ZEJ{—XE

(a) (b) /2 (c) 2 (d) None of these

R | o | SETTrr—
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Q@ﬁ'ﬂﬁﬁ i) P ' 5;; ; @ - !;’ ﬁ--
: dx

2 dx 2 2 dx . gx—a?®
AL (a); J — = — — =Ju =[51n : ]
: \/2ax~x2 ’ Ja2—(az~2ax+x?j \/az—(x—a)z a o
= )= -1 -1 =£—' —E —
sin” (1) —sin™!( 1) 2[2) .
26. Lim l_smxz a7 7 T ?
1—1-5 E-—-J{
2
(a) /2 (b) n/4 (c) 1 (d) None of these:
1 -sinx lim —COSX . im Sinx 1
Trg: (d); ™ = [la Hospital's rule] = =—
S -x? =32 —x) 2
27. I y=tan" chals, 2T, ﬂﬂﬁ‘ﬂlﬂﬁ?
6—5x dx
] 1
- b) — d) N f these
@) I+ x~ () 1+ x° (©) 6(1+ x%) (NG of these
AAYE: (a); v =tan " O
6 — 5x
dy 1 6(6 —5x)+5(5 + 6x) 61 . . ]
dx l+[5+6}{)2. (6—-5){)2 (6'-5?{)2+(5+6X)2 1+ x?
6 —5x

28. 10kg swt= aﬁmwﬁwwmwmrmﬁﬁmmmwmmﬁmw
60° T frarrs Witz | SR it frars e S v

(a) le@kg (b) lgkg (c) Ekg (d) None of these
V3 3
Q
120
W P 10sin150 10 60
Te: (b); = = P= -k e >p
(b) sinl20 sinl150 sin]20 J3 gr 90’ g

v
W=10 kg
29. 12N'e BN Tt 76 AT LA 967 UG (@1 GG 387 A 6 B e faee witg | sive s@gi
mewaﬁﬁﬁwﬁﬁmwwmm?mm AB=5m.

(a) 2m (b) Im (c) 1.5m (d) None of these
¢: (b); P.AC = Q.BC = Q(AB - AC) A C B
a1, AC = RAB 3xﬁ‘xB l l l
. P+Q 5 P=12 P+Q Q=8
S [T s AD = %AB A D B

Higa JT = E—E}ﬂkB =1AB=lx5=lm
5 5 5 5
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30. 1,2,8,5, 52 @@ 242 @@ W el ABCD witwdd 7@ AB, BC, CD @& DAIIR @k 36

AC @2 BD @93 f@wiee | ABCD <frsg ofel Ima iy 5 a3e 0@ I #fg -

(a) 80 units (b) 40 units (c) 50 units (d) None of these
w1y (d); IERTAR @ = 25,899 qa% | Wi FEH wfe = 25.899 94FT

Feare 80, 40, 50 @HHE 77

3. 3 oo aIlh AT (T ST 3%51:;: o 1A MG =% SHr (e | T =t @ 327m/s W, O 1

FRIEREERES -
(a) 45.5 m (b) 54.5 m (c) 50.0 m (d) None of these

TgE: (b); €fF, AT AOTS! =h AT TNF =t
h [2h, h 7

‘W@WWW=L St —=
327 327 \g 327 2

xz A
Jh=x4@ —+Xx|==— =x=7379 =h=545m
327 g 2

32. %kgmuﬂaﬁ‘qmﬁ 4m R e /B ArsrerEE 7e6ge 2o 1280m/s Afetaes: fisfe = | 7t w0 s

T TS 0 WA F9? .
(a) 2560N (b) 25600N (c) 256N (d) None of these
1Y (b); V? = Vg +2as ; a= 158(5 = 204800 ms ™2 : F=ma =25600N

X

13 G IS AR T T S Ny S AT, Wi e @ foi w1 e Wik | % e e
1515 “roT! FIIZT I FAL ALFS 0ol FACS ATACL?

(a) 50 (b) 40 (c) 70 (d) None of these
(a) 1 2 2
g (d); I sgEaEE (b)) 1 1 3
(c) 0 2 3
5! 5! \ 5!
(a)7@e egi=—— =30 (b) e A== =20 (c) TTF® FA=—— =10
212! 3! 2!'3!

s @ =30+20+10=60

34, 2x%+46x+5=0 TNFF07 TR 4Ffe Fefg w2t

(a) Complex & unequal (b) Complex & equal
(c) Real & unequal (d) None of these

sieA: (a); D=b* —4ac =36-40=—4
3+X 4 2

35. X OF (@ M & AeE s Iwgwzd? | 4 24x 0 3
2 3 4+Xx

(a) -9, +/3 (b) -9, J3 (c) 9, J3 (d) None of these

M lss T DR e oo
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3+Xx 4 2 9+x 4 2

TR @) | 4 24x 3 [=0=0+x 2+4x 3 [=0 [¢)=c,+cy+c4]
2 3 4+x 9+x 3  4+x
l 4 2
::»(9—!—}:){} X—2 ] =0[r';._=ri—r],r'3=r3—-r1]
0 -1 x+2
X—2 ] 5 |
= (9+x) =0 =(©0+x)x2-3)=0 =x=-9, +.3
-1 x+2

36. "Immediate" WWWWWW CATS #ATT TS 4T AT 't 932 LT 'a' A2

(a) 45360 (b) 630 (c) 1260 (d) None of these
7! -
T (b); —— 57 =630
37.* o r@ifog IW ey = : + : + : F errera O [Ans: c]
I1x2 3x4 5x6 .
(a) e’ (b)21n2 (c)In2 (d) None of these
38. (0,—1) 93z (2, 3) ™mEe @t @S 1 407 ST el X - % (W @ AR qe I o = -
(a) 4 (b) 2 (c)3 | (d) None of these

AAYI: (a); x(x~2)+(y+1)(y—3)=0 :>x3+y2—2x—2y—3=0
M R =2\/g2—c =4
39, ¢-a% (I AT T y = cx(1 + X) ISR AR ©IF =i X - ST AN 30° @ TAT A2

1
a) /3 b) — c) — d) None of these
(a) (b) 7 (c) (d)
A9141: (b); y=cx2+cx; ﬂ=2f.::1{+1n: P EISRAACH —y=c=tan3{}° .'.ch

dx dx B

(ﬂ):v=i—\£E (b) y=4%

2
TALE: (a); 5x2+4y2=1:> 2 7 =] Wﬂﬁwm‘r’:iy =J_r‘/§

41.* 70 F% g P @ Q97 fS 9T CFarTte &ffe EITs frfe S wgeis 16 : 11 P @7 S 1600K
TE Q 9T Sl O (7

(a) 800 K (b) 3200 K (c) 400 K (d) None of these
.
FAIGIE: (a); = =l4 =T, =1T6—OE=800K
E, T, 16

ETHE, | o ([




42. TR AT 327°C @R A R A orf 5.86c¢al/gm. 22 4gm — mol A EIS @G ARwes
TS FA? AR EArE e 207.

(a) 8.1 cal/K (b) 1.38 cal/K (c) 14.8 cal/K (d) None of these
sna(a); ds = 92 = 2:86%4x207 _ g4 o1k
T 600
43. 95 7 R Q3@ =wAS e @A &fS e 10 G A6 R 9 | I atiw @b i1 280 Hz =, o
AT F9F o YI?
(a) 290 Hz (b) 270 Hz (c)botha &b ~ (d) None of these

A9 (¢); £ =280+:10=270 or 290
44 * @36 AZET e T *tHg T 120 Hz | (o 776 20e 3@ 15m/sec @7 3 (@S A9, o
(T N ST Ol TLF $92 O *tHd @ 320m/ sec |

(a) 104.9 Hz (b) 95.9 Hz (c) 114.6 Hz (d) 113.0 Hz
FAEH: (¢); f'= L x120=114.6Hz
320+ 15 _
45. T @ITLT AT TG W, (@Al 8 FHe T (ST MR | A9F (AL T =S [Ans: c]
(a) 47002 (b) 4700Q2 (c) 47000£2 (d) None of these
46. I (ICIT SR 51EF 6 2V G2 WEEad @Y 2Q | 97 gy 10Q @ed S 9|l & I O [
AT FA?
(a) 0.167 amp (b) 24 amp (c) 0.25 amp (d) None of these
TargE:(a); 1= £ _ 2 =0.167 amp
R+r 2+10
47. =IfSRIeT DTS ToF (B1F CFa (T I& AT A SILF I0E— [Ans: b]
(a) & (b) Fitag I (c) ©Izs (d) None of these

48. @3B Ml (AF 30cm @ 93 @IS A =E | WME Tw iaifeR w3t 3 o [RRf¥e {9 (e =@
(SIS T© (T GArea 1o FILF A AA?

(a) —22.5 cm (b) 11.25 cm (c) 5.63 cm (d) None of these
Aq4E: (b); EENCS, x+30 =3
X
x=15 .u=15cm ; v=45cm .. : = 1 +L:0.089 S =125
f 15 45
49. «zf> R e efevmie /2 2 u3 Pew Rpfe we?

(a) 30° (b) 45° (c) 60° v (d) None of these

. A+0 . 60+0

sin - 7 sin 5

AgE: (a); U= —A =2 = %0 =6, =30

sin— Sin—

50. @FETEE 20cm 9 WHF IET I8 ATS AAEA], O G ARSI (FI0o FHol RS

(a) —2D (b) +2D (c) +4D (d) -5D
T (d); f=-s=-02m ..p= % =-5D

51. el SR M eee @ AF 712 [Ans: d]
(a) <fo o= (b) I ST (c) THAT &Il (d) None of these

52. b BfeEta @a STYEe Ao AT TENR | 99 [EeT 8912 0.75mA @3 Me &’ 0.05mA | 8% R
G9F (I F9 |
(a) 0.93 (b) 14 (c) 1.71 (d) None of these

|EECE >

T




33,

54.

55.

56.

57.

58.

59.

60.

e 0.75-0.05

Y (a); o= —== =0.93
I 0.75
I 10kg o 996 37 TR fere siffere 2o w7 Sestifive =i AR 3o
(a) 9x10Y] (b) 9x10"J (c) 9x10"] (d) 9%10')

sre: (€); E = mc? =1a0>~<(3:a<.1tzrﬁ)2 =9x10"7
S0kgotd @ IfE 1950kg ST @G NS Fam @@ g9y 10sec AT 751 | W@:2F 10min

TTCICT BIEICIE * @ BT 1sec 9 Ty SIS A7e | @t &g 4sec *F ifSq @ 8m/sec T TG FEF
ST (16 aw T & |

(a) 12100m (b) 12210m (c) 12310m (d) 12110m

FareE: (d); v=u+at .'.a=§=2ms'2 10 sec % @ =at = 20ms ™

&2 10 sec 9 VP :%mz =100m

AT 10 min 9@ 799 vt =20x10x60=12000m

CE 1 secd @Y :(u;v)t=[0220].1=10m "G5 @9 =100+12000+10=12110

25N 1 @M P2e G 10cm 3% I | P 8em @iifEs 30 T wrer STl =37
(a) 0.8 (b) 0.8 Nm (c) both (a) & (b) (d) None of these

TgE: (¢); K = F = 2]5 =250Nm™" ; W=%Kx‘1' =%K250><.082 =0.8] =0.8Nm
X

e e 6.4 x10°m 3R SfEwEe padt 9.8ms™ |« 7w IS @ B <7 |

(a) 7.92 km/sec (b) 11.2 km/sec (c) 9.0 km/sec (d) 15.0 km/sec

TrgE: (b); v=,/2gR =11.2 Km/sec
I.le{]ﬁgmmﬁWW&%WWWWWIWWWWWW

1.2m/sec’ @3 =g Ao 3.0x10° N/m? 2wt e sdfoe imid e

(a) 4.33x107m (b) 4.19x10”m - (c) 3.7x10°m (d) None of these
e (b); F=m(g+a)=1.5x10*x11 F=m(g+a) ‘
Ao =£ A= I'SXIOB:I : =5.5%x10"° : r=4.19x10"m

A 3x10
ST FASE Tl AR : [Ans: a]
(a) ML'T%0™! (b) MLT0™" (c) ML*T™ (d) None of these
e efemy uaGE ofFesT [Ans: c]
(a) T (b) ITE (c) == (d) None of these
96 BT e S00K Srommam s+ B zre 12500 ST 92 I @ ST ArgE 700 S 8T 35 | el
AL St foefy o9 | [Ans: b]
(a) 450 K . (b) 280 K (c) 0K (d) None of these
14 (b); @ _ T _ 1250_500 T, = 280K

Q T, 700 T,

ECER | s |
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B} d
@ (MCQ)

61. Choose the correct form of the verb in parenthesis of the following sentence: [Ans: c]
Had they arrived at the sale early, they (find) a better solution.
(a) will find (b) found ~ (c) would have found (d) would found

62. Choose the "appropriate preposition" to fill in the blank of the following sentence:
"He drove a speed of 60 mile per hour. " [Ans: d]
(a) with (b) off (c) by (d).at

63. Select the “Compound Sentence” from the following sentences: | [Ans: a]

(a) Work hard and you will succeed in life.
(b) By taking fruits and vegetables, you will get vitamins.
(c) The sun having set we returned home.
(d) Because of raining, we could not go to school.
Read the following passage carefully and Answer Questions 64 and 65:
In 1920, after some thirty-nine years of problems with disease, high costs, and politics, the Panama Canal
was officially opened, finally linking the Atlantic and Pacific Oceans by allowing ships to pass through the
fifty-mile canal zone instead of traveling some seven thousand miles around Cape Hom. It takes a ship
approximately eight hours to complete the trip through the canal and costs an average of fifteen thousand
dollars, one tenth of what is would cost an average ship to round the Horn. More than fifteen thousand
ships pass through its locks each year.
The French initiated the project but sold their rights to the United States, Which actually began the
construction of the project. The latter will control it until the end of the twentieth century when Panama
takes over its duties.

64. It can be inferred from the passage that
(a) the canal is a costly project which should be reevaluated [Ans: b]
(b) despite all the problems involved, the project is beneficial
(c) many captains prefer to sail around Cape Horn because it is less expensive
(d) problems have made it necessary for three governments to control the canal over the years

65. All of the following are true EXCEPT
(a) it costs so much to pass through the locks because very few ships use them |Ans: a]
(b) the United States received the rights to the canal from the French
(c) a ship can pass through the canal in only eight hours
(d) passing through the canal saves thousands of miles of travel time around Cape Horn i

66. Select the correct “Indirect Speech” of the following “Direct Speech”™. |[Ans: b]
[ said to him, “Let them do whatever they like.”
(a) I told him that they should do whatever they like
(b) I proposed to him that they might do whatever they liked.

(c) I told him that they might do whatever they liked. :
(d) I wished him that they would do whatever they like.

67. Choose the correct “Passive Voice” of the following “Active Voice™? [Ans: a]
“Please don’t smoke.”
(a) You are requested not to smoke (b) You are not allowed to smoke
(c) Smoke 1s not permitted (d) He is requested not to smoke

68. Choose the phrase that best completes the following sentence: [Ans: d]
“He passed the examination hard labor™
(a) By the book (b) Carry out (c) By hook or by crook (d) By dint of

69. Choose the ‘Antonym’ of the word *“fiddle™: [Ans: b]
(a) Hoax (b) Integrity (¢) Fraud (d) Con

70. Which of the following sentences most closely resembles to: [Ans: c]

“Paris is one of the costliest cities in the world.”

(a) Paris is not as costly as most other cities in the world.
(b) Paris is costlier than any other city in the world

(c) Paris is costlier than most other cities in the world
(d) No other city in the world is as costly as Paris.

| DI | 6




